=
=
=}
7

FEI66T5.

G
B
7

Wi
o
o
G
EIE

oo $=1/250

e
ETES L=49.0n
60 UZUEIE L=49. On
HAEEHEAR L=48.0n
1-2 H=134. 168
s
Rl
[ & & [ xgm [ vel§ |
| 76726. 455 91076982 _renst
76730.921 91030997
i = ®
(EEN T 520 S O S S S A S - N N 7|
T 2y T T T T W e
T T 1 70000_| 2439% | ENE 36950 | 247397 | 76126283
s T T T T T T T a7
e [ R e
R B XEEAE S XER YR
0. 76732.693 0. 0L 76127747 1080791
BC 76731852 N0_0+10L5 76126.318 1070581
N0_0+10 76731, 360 NO_ L 76125, 224 1059 821
. 76731214 NO_1+106.5 76726 121 1048963
SP. 76732 344 N0 2L 76128.575 1038.275
NO_1+10 76732.492 N0.2+9_00L7 76732.491 1029. 189
O 76735 168
N0.2:9.00 76738, 128
N0_2+10 76739, 168
EPECT 76740497
T%% RIEL BRERER £K- WAR
ZENEIE
BEE%E| (-) BRELKR
IHER| EHBERAUAR
HE% |F @ B
8R | o [mEEs] 1 / 6
244
o0 z B 5 = H H H 254 BRRAMBLERRR (XEFS)




e B X - 43 4 I X

140. 000
135.000
_ P
e ]
I ) T //
125.000
B
-
DL=120. 000
| [ | | | |
] 3 g = 3 3 2 B
i i = g g s a g 8 8 E
8 [ g g 5 = z 3
B oM PR OB i = B s B E g o
" 8 2 2 g 8 g s 5
AOMOE M E EE s S S S 3
8
E & . s B E i g
g 8 g s s s s £
] e ‘
# ® E)
:

§=1/100

(REEHEE] o
T35 |VEL BUERRR RE-UAR
BREE| (-) BAEERA
IEEF|ERBEEALAR

BE% | GKE - ELEER

#R B [m&#%] 2 /
214

$2%4| ERREBRARER (£RF2)




R (1)

$=1/100

NO. 0 NO. 0+10
GH=130. 365
Fi=

6H=129.381
FH=

% ifi[ BB
i[® E3 5.8
o 1 R -
wlBm__& ® | + 0.8
2|#[BRC | B<1.0 0.2 | 0.4

DL=125. 000 DL=125.000

[REHRHHE]
THg ML BRERER XE-WAR
BRERRIE

BRE%F| (-) BRESER

IHEH|ERBERAUAR

BES |# % B ()
88 | 1o [mEss] 3 / 6
214

L2%4| ERRMNLERARE (RRFE)



R (2)

$=1/100

NO. 1+10

6=132. 247
Fii=

NO. 1
6H=131.314
Fii=

% # #_E % # BB
P 2 73 k0 [ i

B @ | £ 0.8 I 0.8
ERL | B<T.0 0.2 | 0.4 ERL | B<T.0 0.2 | 0.4

DL=125.000

DL=125. 000

(%18 K]
TH4 |POAL HAERRR XK - WAR
BRERRIE

BEE%E| (-) BRELKR
IHEH|ERBERAUAR

BES |# 5 B (2
8R | 1o [mEEs] ¢ / 6
214

L2%4| ERRMNLERARE (RRFE)



R (3)

$=1/100

NO. 2+9. 00
6H=133. 793
Fi=

NO. 2
6=133. 124
Fii=

# ; BB % # ; BB
E3 T3 B E3 0.7
R - 1| L -
| + 0.8 #lm__&E ® | + 0.8
B<1.0 0.2 | 0.4 2|#[BRC | B<1.0 0.2 | 0.4
_DL=125.000 - _DL=125.000 -
€3 E 51D

RIRE AMEZRE ZH - LAA
I¥% |3Enz1H

BRE%F| (-) BRESER

IHEH|ERBERAUAR

BES |# 5B ()
8R | 1o [mEEs] 5 / 6
214

L2%4| ERRMNLERARE (RRFE)



i

EMIRRAK

ZAbhEMRERAX

5000

3000

N0 37900

$=1/100
HABEHER =48 0n
(R 24+2000=48000
: | 2 |
E E
o 3 N gl J
E E g‘ E E
| | |
| | |
I+ =
—— — 2
— | — —
o — —— —i— —— ——
g — — — —
—t . —— — —— 11—
— — — — —
e e = ===t Tl Lo o4 !
—J— — — 11— — — L4
—] — | — — — 1 ] L L
o — — | —
—— ————1 — 11— ——] — L |
[ — — — — —T] 1 oL
S i I
== ;; TN L T = ! | 4+1350=5400 1300 4|
=i 1400 | 1300
— 1 J\ L L L Hy 1300 | 1300 4%1350=5400 5000
U ” 1350-5400 8000
| 300 | 1300 L. |
” 44135025400 L 5000 24000
1350=5400 1300 | 1300 8000
4x1350<
00 | 1300
1300 4#1350=5400 13 8000 | |
‘ 5000 24000 ‘ ‘

WFRIAE

DL=120. 000

UR B

®

PRAAE

$=1/20
150,300 _ 150
@
: =

150!

150

® ®

PRk PRI A

B 5% 7 54 i AL B
(=) $=1/30

4 B 2210 3

(1000)

ik 3iE-3d

(100)

©®

PR XA

®

PREXEE

®

B (BEEHETAIY)

0w

ﬁsn
AN

B (HARE)

Lephl

5000

3000

DL=125. 000

o X

$=1/100

[REHRHARE]

I%4

RIEE BHERBR XK LAR
ZENEIE

BRE%E

(=) BRERKE

IHER

BHBEREILAR

HE &

PERIRAR

#R

mx  [@@Es] 6 / 6

244

EES £

BEAMBRERRR (XRTE)



